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1.) Which side lengths could NOT be the lengths
of the sides of a right triangle?

S/

Jan 18-3:04 PM

8.3 Special Right
Triangles

1.) Use properties of special right triangles
to find missing side lengths.

Nov 4-10:28 AM

. Warm up: O
feet from a ho
ladder reaches

~—_

house. How lol

Place all items in the proper place on the house
according to the story above. y
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20 ft }
7 ft

@e

Oct 23-10:35 AM
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the given triangle?

Jan 18-3:04 PM

Jan 18-3:27 PM

ladder reaches
house. How lon

Solve for the ?

Oct 23-10:35 AM
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Who Likes
Baseball?

Baseball: A baseball
diamond is a square. The
distance from any base to
the next is 90ft. How far is
home plate to second
base?

Baseball diamond

Label the square.

Use the ruler!

October 10, 2015

2)
&
@l
S
3

Z.uonsany

Oct 21-1:26 PM

Tueorem (i) 45°-45°-90° Triangle Theorem

In a 45°-45°-90° triangle, the hypotenuse is V2 times
as long as each leg.

hypotenuse = leg « \'2
Proof: Ex. 30, p. 163

Oct 21-1:35 PM

8.3 Special Right Triangles
(a) Find the missing side lengths.

hypotenuse = leg - V2

Jan 18-3:27 PM

Jan 18-3:27 PM

8.3 Special Right Triangles

(b) Find the hypotenuse.

hypotenuse = leg « V2

Jan 18-3:27 PM
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8.3 Special Right Triangles

(c) Find the lengths of the legs.

hypotenuse = leg « V2

Jan 18-3:27 PM

8. pecial Right Triangles

(e) What type of triangle has side
lengths of 3, 7, and 9?

Jan 18-3:27 PM

October 10, 2015

8.3 Special Right Triangles

(d) Find the lengths of the legs.

hypotenuse = leg « V2

Jan 18-3:27 PM

1. What are the angles of the triangles? How
do you know this?

2. What similarities do you see between the
three triangles?

Oct 21-4:55 PM

Tueorem [} 30°-60°-90° Triangle Theorem

In a 30°-60°-90° triangle, the hypotenuse is twice as long as the shorter
leg, and the longer leg is V3 times as long as the shorter leg.

hypotenuse = 2 « shorter leg
longer leg = shorter leg « V3
Proof: Ex. 32, p. 463

Oct 23-11:06 AM

Jan 18-3:27 PM
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8.3 Special Right Triangles
(f) Find the missing lengths.

hypotenuse = 2 « shorter leg
longer leg = shorter leg « V'3

Jan 18-3:27 PM

8. pecial Right Triangles
Treorem [l 45°-45°-90° Triangle Theorem

In a 45°-45°-90° triangle, the hypotenuse is V2 times
as long as each leg.

hypotenuse = leg » V2
Proof: Ex. 30, p. 463

Tueorem [} 30°-60°-90° Triangle Theorem

In a 30°-60°-90° triangle, the hypotenuse is twice as long as the shorter
leg, and the longer leg is V3 times as long as the shorter leg.

hypotenuse = 2 - shorter leg
longer leg = shorter leg « V3
Proof: Ex. 32, p. 463

Jan 18-3:27 PM

Starter ~ Challenge
Find the length of each Find the length of each
missing side in each figure. missing side in each figure.
XZ =15 cm. W RS =7 ft. RU=
wz=___ R sT=
WY = sUu=__
WX=___ RT =
ZY = ]

S

Oct 23-12:15 PM

October 10, 2015

8.3 Special Right Triangles
(g) Find the missing side lengths.

Jan 18-3:27 PM

Guide

Find the length of each missing side in the figure.
AC = 11/3 mm A
BC=_
D DC=__  _,prc-=
AB=__ 4pBC=
DB~_
B e

Oct 23-12:39 PM

Who Likes
Baseball?

Baseball: A baseball
diamond is a square. The
distance from any base to
the next is 90ft. How far is
home plate to second
base?

ANIQWED

Baseball diamond
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Class Discussion:
Tell whether a triangle with sides of the
given lengths could be 45 -45'-90°
or 30 6090 . Explain.
1. 3V2,3V2,6

‘ 2. 10,24,26

2
3

1. 45" -45° -90°; Two sides are
equal, and 3v2)ev2=6, so the
hypotenuse = leg..2 .

2. Neither; This triangle is similar to
the 3-4-5 triangle.

Oct 23-12:56 PM
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